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HNE2g 2 &8 111,917 113,317 A 1,400
Al 19,440 20,840 A 1,400
32 92,477 92,477 0
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Al 10,200 11,600 A 1,400
2 8,560 8,560 0
01 AL 22| H 18,760 20, 160 A 1,400
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gH) 2 3,600,000 *14l 3,600 5,000 A 1,400
Al 3,600 5,000 A 1,400
ezl SHTA L AE 88,226 93,722 A5,496
101 Q1244 12,032 14,372 A2,340
04 JI2H2R2IAEEL 12,032 14,372 A2,340
O Mg =)l AL 12,032 14,372 A2,340
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O g4 A 38,8802 * 10 * 102! *50% 1,944 2,022 AT8
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SH: M2 D
HE: M2HO NFEYH

Sl HFHEO oE

HL o

Jor g

SA-HH S (3A) - HPAY - BAES 0l &k o J1 & o Hlms2
| | P EEEFEEIN 22X 244,000 244 1,200 A956
Hets Mome L AMUA a8 M 138,441 140, 441 A2,000
Al 15,000 15,000 0
> 123,441 125, 441 A2,000
Agre 2523 39,846 41,846 A2,000
Al 15,000 15,000 0
> 24,846 06,846 A2,000
202 04 Hl 12,400 14,400 A2,000
02 2 %40 B 12,400 14,400 A2,000
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2E 12,400,0009 » 1 12,400 14,400 A2,000
HH2HHY (N2 D) 245,341 273,441 A 28,100
Al 25,600 24,200 1,400
- 219,741 249,241 A 29,500
olg 29| 133,147 142,647 A9,500
oI 24 H| 133,147 142,647 A 9,500
101 Q124 133,147 142,647 A9,500
01 24 133,147 142,647 A 9,500
O AN2elaesd 133,147 142,647 A9,500
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Jl=Z| 112,194 130,794 A 18,600
Al 25,600 24,200 1,400
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Il =2 112,194 130,794 A 18,600
Al 25,600 24,200 1,400
- 86,594 106,594 A20,000
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O JI2ADEXNY  BE 53,440,000 *1 53,440 73,440 A 20,000
405 X+ oHE SH 25,600 24,200 1,400
Al 25,600 24,200 1,400
01 ML SE 3 SH 25,600 24,200 1,400
© WED PY(AAIAH) 1,400,0002! *1CH 1,400 0 1,400
Al 1,400 0 1,400




